FEEDBACK ON THE 2" TERM TEST
ENGLISH 6

I. You are going to hear a friend talking about his house in the future. Listen and decide if
the following statements are true (T) or false (F). (1m)

1. The house will look like a sheep. False
2. There will be a room for guests. True
3. It will be a bit noisy surrounding the house. False
4. He won’t have to go to buy food very often. True

I1. Listen again and choose the best answer. (1m)
5. Where will his house be?

A. on the top of a mountain B. in the field C. on the top of a hill
6. How many rooms will there be in his house?
A. 3 rooms B. 2 rooms C. 4 rooms
7. What color will the walls be painted?
A. yellow B. green C. blue
8. What animals will he raise?
A. chickens and pigs B. chickens and fish C. dog and cat
I11. Choose the word that has the underlined part pronounced differently from the others.
(0.5m)
9. A.dark B. travel C. cancel D. action
10. A. nose B. cold C. hole D. flower
IV. Choose the best answer (A, B, C, D) for each sentence. (2ms)
11. I couldn’t find the control, so I pressed buttons on the TV set.
A. screen B. remote C.TV D. button
12. she was lazy, she passed the exam last week.
A. Because B. So C. Although D. When
13. If we plant more trees, the air be so polluted.
A. won’t B. will C.do D. did
14. Don’t throw into the river. This will cause pollution.
A. fishs B. dogs C. rubbish D. water
15. She a ball for her boy yesterday.
A. buy B. bought C. buys D. buying
16. You should turn the tap when you brush your teeth to save water.
A. off B.on C.up D. down
17. Automatic helps us wash and dry dishes quickly.
A. fridge B. machine C. dishwasher D. cooker
18. do you do judo? — Twice a week.
A. Why B. Where C. When D. How often
V. Read the following passage and circle the right word (A, B, C or D) to fill in each blank.
(Im)
People need to breath. If they don’t breath, they (19)........c..coc....... die. But how clean is
the air people breathe? If they breathe (20)..........c.ccue...... air, they will have breathing problems.

Plant and animals need clean air, too. A lot of things in our lives create harmful gases and



(21 P the air dirty, like cars, motorbikes, and factories. Dirty air is called polluted

air. (22)..ccccceveeeinnnn. pollution can also make our Earth warmer.

19. A. must B. are C. will D. won’t
20. A. fresh B. clean C. cleaner D. dirty

21. A. get B. make C. give D. made
22. A. Air B. Soil C. Water D. Noise

V1. Read the passage carefully and answer True (T) or False (F): (1m)

Manchester has a population of about five million but it’s not the capital city of Britain.
London is the capital and it’s the biggest city in Britain. But Manchester is the wettest! In
Manchester, it rains in spring, summer, fall and winter . The city is very noisy. There are a lot of
cars and there is a lot of pollution. People drive their cars to work and children take the bus to
school. There aren’t many bikes or motorbikes because the weather is very cold. Near the city,
there are lots of lakes and mountains. People go walking there on the weekend. Manchester also
has a lot of cinemas and theatres so there is always something to do on the weekend.

23. Manchester has a population of about five million. True
24. Manchester is the capital city of Britain. False
25. Manchester is very quiet. False
26. Children go to school by bus in Manchester. True

VII. Rearrange the words to form meaningful sentences (0.5m)
27. help/ Robots/ people/ will/ the/ housework/ do.

Robots will help people do the housework.

28. has/ that/ She/ seen/ three/ times/ film.

She has seen that film three times.

VIII. Finish the second sentence so that it has the same meaning as the first one. (1m)
29. People have a shower instead of a bath. They save a lot of water.

=> |f people have a shower instead of a bath, they will save a lot of water.

30. No cities in Viet Nam are more crowded than Ho Chi Minh City.

=> Ho Chi Minh City is the most crowded city in Viet Nam.

31. I didn’t have any class yesterday, so I played sports.

=> Because / didn’t have any class yesterday, I played sports.

32. Maybe Peter won’t come to the party tonight.

=> Peter might not come to the party tonight.




